Class 12 Physics, Board of School Education Haryana - 2019

CLASS : 12th (Sr. Secondary) Code No. 4328
Series : SS-M/2019

Roll No. SET : A

Afew A5

PHYSICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70
° FWT g FW T M 5H WT-H T gRT 7T 15 T
797 21 87

Please make sure that the printed pages in this
question paper are 15 in number and it contains
21 questions.

° 7o7-yF H e & @l S R4 T4 FE T_T T G FH
5 TAT-Yia % §eg-9% 97 [id)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® FYF F97 FH TV [iGT §& FXT @ B, GIT H HHH
o797 ford)

Before beginning to answer a question, its Serial
Number must be written.

4328/(Set : A) P.T.O.



(2) 4328/(Set : A)
o JTT-giaH % &% 4 @Il G/ T Big)
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd #F o4 de TE AR o
STaeTHAaT & ki@ 3T frar g 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gereff Tgr T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the
question paper.

» U g7 1 FAY &7 @ [d I8 GhRET HC d@ B 597-97
g7 7 78 & YO # Iy 54 a9 § #HE A a@r
BT Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) TTT T 5721 597 &
(ii) & 597 SAfart 8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/

4328/(Set : A)



(3) 4328/(Set : A)

(iv) 597 G@r 2 @11 T% Iy FT0T Fo7 & T T9%
797 2. 37 H &

(v) 527 G 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T 81

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T J9F
I 5 37 H &

(Vi) J97- 77 & G @7 @ FS [AweT 78 81 FMIT 5 FH
g A g F ol T qaT B T &1 o
g7 H & oy BT W gqT § @ a7 & & F97

T &1

(viii) DA % TTENT F SFHT T & AT &7 T,
TGTTHT RIS [T T e7ese 81

(ix) & ST & Y H=IT daw HadE & FeE
P TGN F THT & -
c=3x10%m/s o =41x107 " Tm A~}
h=6.63x103%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : A) P.T.O.



(4) 4328/(Set : A)

(iii) Question number 1 consists of fourteen (i-xiv)
objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is no overall choice. However, an
internal choice has been provided in all three
questions of S5 marks each. You have to
attempt only one of the given choice in such

questions.

(viii)yUse of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A~

h=6.63x10734JS L o 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : A)



(5) 4328/(Set : A)
[ a9 |

[ Objective Type Questions ]

1. () oSt & 9 & T e B uRA B/ o
Fed Bl 1

Process of sharing the charges with the earth

is called as .............. .

(ii) e, (Frafa @ fEasiad) & SI 96 @ 1
(A) C2N'm™ (B) C2N"'m™2
(C) N'Cc?m™ (D) N~'Cc?m?

SI unit of €, (permittivity of free space) is :
(A) C2N'm™ (B) C>N"'m™2

(C) N'C?*m™2 (D) N~ 'c?m?

(iii) Frafe § R &1 E' & Sl 99 & @ i

Write the expression for energy density of

electric field 'E' in free space.

4328/(Set : A) P.T.O.



(6) 4328/(Set : A)
(iv) AUHM S W, T SNEaih & Firieeh 1
(A) Hedl B
(B) it &
(C) € o1 5¢ Tl 8
(D) I & W& ©

With the increase of temperature, the
resistivity of a semiconductor :

(A) Decreases
(B) Increases
(C) May increase or decrease

(D) Does not change

(v) T 2kQ & Tie® & BRI & 794 4 V F7 ook
g, O IEH el fagq o sated Rt ? 1

How much current flows through a 2 kQ
resistor when a potential difference of 4 V is
applied across its ends ?

(vi) @6 O UfcEjashid Uerd @l AR geehsiier
A FT BT S 1

What is the value of relative magnetic
permeability of perfectly diamagnetic
substance ?

4328/(Set : A)



(7) 4328/(Set : A)
(vii) U & AR e & R i B g o

(A) 1 (B) V2

© 75 (D) =

The power factor for a purely capacitive circuit
is :

(a) 1 (B) V2

(C) % (D) Zero

(vii)HGTRX ®EI § g AEN (UHF) S &l foa
fEq-geeE T & SR & @M Gedl @
HART-HE &l e & S & ? 1
Which electromagnetic wave are used in
cellular phones to transmit  voice

communication in the Ultra High Frequency

(UHF) band ?
(ix) H5H Bl QT hae B ° 1
(A) gFE (B) &Y 9

(C) wIWHE o (D) T st o
Who discovered the nucleus ?
(A) Thomson (B) Bohr

(C) Rutherford (D) de Broglie
4328/(Set : A) P.T.O.



(8) 4328/(Set : A)

(x) Jsafrea werd i afpaar (Ueeaan) &SI ARG
T BT & 7 1

What is SI unit of activity of Radioactive

Substance ?

(xi) FEEIT B IRFEAT Bl © 1
(A) TEE & (B) e @
(C) fargier & (D) & T4

Rainbow is a phenomenon due to :
(A) Reflection (B) Refraction
(C) Dispersion (D) All of these
(xii){pHl forg G & ATART I § TN i A
FE 7 1

What is the shape of wavefront for the light
diverging from a point source ?

(xil)TRIT  Tebell & HgS H SN BN A
Il iR N AW T B 1

Name the optoelectronic device used to
detect optical signals.

(Xiv)Th SAFSh SeReT g | efiorar el © 7 1

In an electronic communication system,

what is attenuation ?

4328/(Set : A)



(9) 4328/(Set : A)

[ ey ST 99 |
[ Very Short Answer Type Questions ]

2. 2 pF, 3 pF 3R 4 pF ¥iar a@ a1 denfsr aredseq A
e T §| IR GISH H 100 V B GO ¥ Sie g, o
TS G X STAST 3 i) 2

Three capacitors of capacitances 2 pF, 3 pF and
4 pF are connected in parallel. Determine the
charge on each capacitor, if the combination is

connected to a 100 V supply ?

3. e ® o (qu) Frew w/m g ? 2

What is Kirchhoff's loop rule ?

4. X qOeT & GV ST TR 2
Name four applications of Eddy currents.
5. B0e & fEgq I o1 & Fw fafaw 2

State Faraday's Law of Electromagnetic Induction.

6. UTH ISA 7.5 MHz ¥ 12 MHz 5 & il @A 4
GO 8 9hal 31 GId adies 991 B ? 2

A radio can tune into any station in the 7.5 MHz
to 12 MHz band. What is corresponding

wavelength band ?

4328/(Set : A) P.T.O.



(10) 4328/(Set : A)

7. T 0.040 kg &M H i< S 1.0 km/sec @l =
q = V@l 8, I & Sl qieE e g ? 2

What is de Broglie wavelength of a bullet of mass
0.040 kg travelling at a speed of 1.0 km/sec ?

8. FUTHSG e &g H 8N awil T Uishar @1 & °
>VBi % T4 &7 F T gk e 2

What is basic nuclear process underlying

B~ decay ? Write nuclear reaction of this decay

210,.
for 8331.

9. TF I SIS H [-V SIRTET I9130 dicedl Mosh &
w7 § S SIS @A SR il 2

Draw the [-V characteristics of a Zener diode.
Also sketch the circuit diagram of Zener diode as
a voltage regulator.

10. & ¥ 9IRS FH FIar dien arag) 2

=

Write the truth table for given circuit.

e

4328/(Set : A)



11.

12,

13.

14.

(11) 4328/(Set : A)
HEX aed] & & ARG T 2
Draw Block diagram of Communication System.

[ g ST 97 |
[ Short Answer Type Questions ]

T & AR IS & &7 ARFRE! & famst S 3

Discuss three basic postulates of Bohr's model

of atom.

TSl g S T BT & ¢ MRSl g R W e
%! e # fadaer Hivm) 3

What is photoelectric effect ? Discuss the effect

of intensity of light on photoelectric current.

WEdT & BN g e § 7 gE] & Ew
SEERSIEI RN 3

What is polarization by reflection ? Deduce

Brewster Law ?

4328/(Set : A) P.T.O.



(12) 4328/(Set : A)

15. T% Jfigs L-C-R IR9Y, FH R = 44 Q, C = 8 uF
q9T L =50 H 8, %l Th URadl g 220 V ac Y[
H SISl T &1 AR & Tae # PO AR, S
T G &l TOMT I 3

A series L-C-R circuit with R =44 Q, C = 8 uF and
L = 50 H is connected to a variable frequency
220 V ac supply. Calculate angular frequency,

impedance and current at resonance condition.

16. UPRR &% WRudE Frm # Rt #ivT o o
AR ¥ yerfed 8N il g1 I % SR r g0 W @ drd
Yhid &5 & Horh [l 6 YA &5 i R S
T & 8 o FEH & SEM S 7 3

Define ampere circuital law ? Write expression
for magnetic field at a distance r from a straight
infinite wire carrying current I. Which rule is
used to determine the direction of this magnetic

field ?

4328/(Set : A)



(13) 4328/(Set : A)

17. @& feaaq & e & o @i & 8 & fogg
dqresh Sl @l el @ 1Y itk RYY 9184 3

Explain the principle of Potentiometer. Draw the
labelled circuit diagram for comparing of emf of

two cells ?

18. UH 9N ARG Tqa Mo G & RO G & e
R ferg WX fogq &= & &g 3

Find expression for electric field intensity due to
a uniformly charged thin spherical shell at a

point outside the shell.

[ ST 9 ]

[ Long Answer Type Questions ]

19. o IV WA H APl FTU IEH T TR

g7 4+1=5

Explain the magnetic hysteresis loop ? What are

its uses ?

4328/(Set : A) P.T.O.



(14) 4328/(Set : A)
YT
OR

T I Fredl edmiex & s @B aue i
TGP T WA § »9 uRafda feer ST gear ® ? 5

Explain the principle of moving coil
galvanometer ? How it can be converted to an

ammeter ?

20. Hl TcE qEM § S S99 H i 6
ARG AT ZHH G HHAT Hl URATNT HioTd qe
WWW%@Q 2+2+1=5

Draw a labelled ray diagram showing the image
formation in an astronomical telescope. Define

its magnifying power and write expression for it.

3TeE
OR

I & fElRrd wam & Bhe 9l &1 &9 g $ie 5

Find out the expression for Fringe width in

Young's double slit experiment.

4328/(Set : A)



(15) 4328/(Set : A)

21. Bl n-p-n X & CE o9 #§ sanmlee &
T & U 9ReY RE TEY 39 a9 @ few
Y i sifremeies & oE iR O Ydee Ol H
RN iy 2+1+1+1=5

Draw a circuit diagram to study characteristics
of n-p-n transistor in CE configuration. Draw
the sketch of input and output characteristics of
this configuration. Define current amplification
factor ?

AYAT
OR

TH p-n-p TNTEL B GG S9EE p-n-p SNTEX &
AfET ST TAT 39 HE B JOH P

Draw the symbol of a p-n-p transistor. Show the
biasing of a p-n-p transistor and explain the
transistor action.

4328/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 4328
Series : SS-M/2019

Roll No. SET : B

Afew A5

PHYSICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

° FYT Fig F T fF 39 geT-uA § FRT §O 15 T
g97 21 &)

Please make sure that the printed pages in this
question paper are 15 in number and it contains
21 questions.

° 7o7-yF H e & @l S R4 T4 FE T_T T G FH
5 TAT-Yia % §eg-9% 97 [id)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YY1 §97 F TV [0GT @ BT G B, 9T H HHE
T [ered

Before beginning to answer a question, its Serial
Number must be written.

4328/(Set : B) P.T.O.



(2) 4328/(Set : B)
o JTT-giaH % &% 4 @Il G/ T Big)
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd #F o4 de TE AR o
STaeTHAaT & ki@ 3T frar g 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gereff Tgr T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the
question paper.

» U g7 1 FAY &7 @ [d I8 GhRET HC d@ B 597-97
g7 7 78 & YO # Iy 54 a9 § #HE A a@r
BT Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) TTT 7 5721 597 &
(ii) & 597 SAfart 8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/

4328/(Set : B)



(3) 4328/(Set : B)

(iv) 597 G@T 2 @11 T% Gy FT0T T & T T9%
797 2. 37 H &

(v) Fo7 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T 81

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T 9%
I 5 37 H &

(Vi) J97- 77 & G @7 @ FS [AweT 78 &1 FMIT 5 FH
g A g F ol T qaT B T &1 o
g7 H & oy BT W gqT § @ a7 & & J97

T &1

(viii) DA % TTENT F SFHT T & AT &7 T,
TGTTHT RIS [T T e7ese 81

(ix) & ST & Y H=IT daw HadE & FeE
P TGN F THT & -
c=3x10%m/s o =41x107 " Tm A~}
h=6.63x103%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : B) P.T.O.



(4) 4328/(Set : B)

(iii) Question number 1 consists of fourteen (i-xiv)
objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is no overall choice. However, an
internal choice has been provided in all three
questions of S5 marks each. You have to
attempt only one of the given choice in such

questions.

(viii)yUse of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A~

h=6.63x10734JS L o 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : B)



(5) 4328/(Set : B)
[ a9 |

[ Objective Type Questions ]

1. () &R a0 ¥ Rgg @ oy & foe @9 ar swE B
I B : g R, SEEN AR @ |1

Electric wiring in our homes has three wires :

live, neutral and .............. .

(i) k (Fem= @ Frm @1 fodi®) &1 ST A= & § ¢ 1
(A) N'C™2m? (B) N~ 'c2m™
(C) N'C?*m™ (D) N~ 'c2m?

SI unit of k (proportionality constant in

coulomb's law) is :
(A) N'C2m? (B) N~ 'c2m™
(C) N'C?*m™ (D) N~ 'c??2m?

(iii) T HRS @l GRaT X B el d dg fawaia}
& @ H SOH GRId ol # e ey 1

Write the expression for energy stored in a
capacitor in terms of capacitance and

potential difference between its plates.

4328/(Set : B) P.T.O.



(6) 4328/(Set : B)
(iv) T =10h Hl T8 ToM I Iah! Figewhdr © 1
(A) ¢ SR &
(B) g€ S ©
(C) §¢ a1 9T THA &
(D) Sa+t & &l ©

With the increase in length of a conductor,

its resistivity :
(A) Increases
(B) Decreases
(C) May increase or decrease

(D) Does not change

(v) 59 T 4 Q UfoEs % 0 & 92 2 V fawaiar @,
ar e T forelq &R sated &l © ? 1

How much current flows through a 4 kQ
resistor when a potential difference of 2 V is

applied across its ends ?

(vi) T U1 Sicrjee werd @l gashid gdil & HF
B © ° 1

What is the value of magnetic susceptibility

of a perfectly diamagnetic substance ?

4328/(Set : B)



(7) 4328/(Set : B)
(Vi) T8 TH ac BNd P NH q ST Jar g, o deedr

A g7 & B Y 2T B 1
(A) 0° (B) 90°
(C) 45° (D) 180°

Phase difference between voltage and current
when an ac source is connected to an

inductor :
(A) O° (B) 90°
(C) 45° (D) 180°

(Vi) sneehl H Srgel ® ARA H dE-dl i%@?r
YA T H ITINT (6T el 8 7

Which electromagnetic wave is used to kill
germs in water purifiers ?

(ix) TXHIE & YN & FPAR, Th dach H IAHR
SRT¥RT &I 8 7 1

A) 10 m § 10°m
(B) 10¥ m ¥ 102m
(C) 10 m ¥ 10 m
(D) 102 m ¥ 10! m

According to Rutherford's experiments, the
size of nucleus is about :

(A) 10" mto 10 %m
(B) 10 mto 10 ¥ m
(C) 10 mto 10" m
(D) 102 mto 10 ' m

4328/(Set : B) P.T.O.



(8) 4328/(Set : B)
(x) G ol fhe &l 7 1

Who discovered neutron ?

(xi) ST g e aREeT W #E & § 7 1
(A) gR&Tor
(B) STqacH
(C) eI

(D) Tl HidReh e

Optical fibres works on the phenomenon of :
(A) Dispersion
(B) Refraction
(C) Scattering
(D) Total Internal Reflection

(xii)ITT @ A T S, e Bihd g W wE
forg i T@m &; | IO qOT A T

What is the shape of wavefront of the light
emerging out of a convex lens when a point
source is placed at its focus ?

(xiii)TepTidreh  fafeReon @ fOE[q d ®UARd wA amwl
AT Igeiergiivies | kT bl TH sy 1

Name the optoelectronic device which convert
optical radiation into electricity ?

4328/(Set : B)



(9) 4328/(Set : B)
(xiv)Th TAF(D FAR Tl § ‘WA q /& S

g7 1
What is 'Range' in an electronic communication
system ?

[ foeyg ST 99 |

[ Very Short Answer Type Questions ]

. 3 pF, 6 pF 31X 9 pF &ifkar a@ & denfsr qredsey &
e T Fl IR GIASH H 200 V B R ¥ Sie F, o
T HEE 9 S99 S i) 2

Three capacitors of capacitances 3 pF, 6 pF and
9 pF are connected in parallel. Determine the
charge on each capacitor, if the combination is

connected to a 200 V supply ?

. PE @ oraey faRgu Red o9 @1 FEm uew @ A

T 7 2
Write any two conditions when Ohm's Law fails ?
. T T FrEE wm g ? 2

What is Lenz's Law ?

. TOHER T BT © 39T SHikd R ST 2

What is Transformer ? Draw its labelled diagram.

4328/(Set : B) P.T.O.



(10) 4328/(Set : B)

6. 0% A 100 m ¥ 50 m TORY I8 & & Ry F
TIENT B Tl =1 TG STghy S ) 2 ? 2

A radio can tune into any station in the 100 m
to 50 m wavelength band. What is the
corresponding frequency band ?

7. T 0.060 kg ZFAM & g S 1.0 km/sec & A
Y Id V@ B, ITH < SFal qiesd fhae &nm ? 2

What is de Broglie wavelength of a ball of mass
0.060 kg moving at a speed of 1.0 m/sec ?

8. I T &9 W SMEURYA g TEedr FMOE 7
Yo % fom gq e i e Rt 2

What is basic nuclear process underlying
B* decay ? Write nuclear reaction of this decay

for161C.
9. A fheex & @y P T sl &1 gRuy &=
39 9Ruy &t g g Feia A ssET 2

Draw the circuit of full wave rectifier with
capacitor filter. Also draw the input and output
voltage of this circuit.

10. %I T IR9Y H T qmen ke 2

S e ] e

Write the truth table for given circuit.

Aoy, y
Be———C0——

4328/(Set : B)




(11) 4328/(Set : B)
11. HGYQAYH T BT & AR 36! AaLFHM 4 e & ! 2

What is modulation and why it is needed ?

[ g I 9 |

[ Short Answer Type Questions ]

12. TR S99 Soll B B S d9T 54D &7 A0
fomst aifomm 3

Draw binding energy curve and discuss its two

main features.

13. 3ufad fafeor @ ol dadell & e sk
T Uit fawa & S oo @ fomst S 3

Discuss the variation of photocurrent with
collector plate potential for different intensity of

radiation.

14. JHI A foaaq @1 B ? Uha B0 fGadw & At
A NG §9ET| 3

What is diffraction of Light ? Draw diagram for

single slit diffraction arrangement.

4328/(Set : B) P.T.O.



(12) 4328/(Set : B)

15. % Jfigs L-C-R IR9Y, " R =60 Q, L = 80 H
X C = 5 uF B, N Th IRl AGRT 240 V MYRi |
SISt 1 21 AR d RAfd § dioig SMgh, Sfcerr
AT &1 B IO BT 3

A series L-C-R circuit with R =60 Q, L = 80 H and
C = 5 uF is connected to a variable frequency
240 V supply. Calculate angular frequency,

impedance and current at resonance condition.

16. & HAICX fogq g}l & 99 S0 H A9 [y q
T T ORI 1 ORI T T qo ST
qRIE {68 TXE IR BT § 7 3

Write expression for force between two parallel
electric currents and hence define one ampere.

How parallel and antiparallel currents behave ?

17. HX &g 0 R W &d & & 7 3um A
URUY S9EY qAT ORNG SY H M @ &
foriem) 3

On which principle meter bridge works ? Draw a

labelled circuit diagram and write expression to

find an unknown resistance ?

18. Jgq Vften 7 Mew & faw & e 9 R Fivm 3

State and prove Gauss's Law in Electrostatics.

4328/(Set : B)



(13) 4328/(Set : B)
[ ST 999 ]

[ Long Answer Type Questions ]

19. @ p-n-p FNEX & IWAMS Sl G
HARIRTRIE, & ST & iy IRTY e TR0 39 o
¥ god faw aon el ofamfe & @ diftw MR
gty e fid gfakrg @ 9w Hifi) 5

Draw a circuit diagram to study characteristics
of a p-n-p transistor in common emitter
configuration. Also draw the sketch of input and
output characteristics of this configuration. Define

input and output resistances.

e

OR
IS Sooeid gl Jade @l wEfaf @ oRuy
NG TEH G 5

Explain the working of common emitter transistor

amplifier using circuit diagram.

4328/(Set : B) P.T.O.



(14) 4328/(Set : B)

20. T% = HSo IEHIC & [aaT H aUA HioT SEh
Y T dieediex § qRafia fear ST e 8 ? 5

Explain the principle of a moving coil
galvanometer. How it can be converted to a

voltmeter ?

AYAT
OR

EECIRERIEURISCINGR IR PN e MG LS ) S IRl
gush U1 fgq g9 W & U sl & oae 6
YR fehar e & ° 5

Explain the terms magnetic retentivity and
coercivity ? How the materials are selected for

making permanent magnets and electromagnets ?

21. JHL H gIOT F BT & ! THA FH WA &
gaUT q°1 SR & TSN SR gAU & GfRr e
EIE I 5

What is polarization of light ? Briefly describe
polarization by reflection and polarization by

scattering of light ?

4328/(Set : B)



(15) 4328/(Set : B)
YT
OR

frdl dga gemesll # Ofafsig &9 1 TFHiied R
MG TEA| ZHH! ST SHAT B UG BT
T o e ffag 5

Draw a labelled ray diagram showing the

formation of image in a compound microscope.
Define its magnifying power and write

expression for it.

4328/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 4328
Series : SS-M/2019

Roll No. SET : C

Afew A5

PHYSICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 70

° FYT Fig F T fF 39 geT-uA § FRT §O 15 T
g97 21 &)

Please make sure that the printed pages in this
question paper are 15 in number and it contains
21 questions.

° 7o7-yF H e & @l S R4 T4 FE T_T T G FH
5 TAT-Yia % §eg-9% 97 [id)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YY1 §97 F TV [0GT @ BT G B, 9T H HHE
T [ered

Before beginning to answer a question, its Serial
Number must be written.
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o JTT-giaH % &% 4 @Il G/ T Big)
Don’t leave blank page/pages in your answer-book.

o FUT-gRaE % Slandd #F o4 de TE AR o
STaeTHAaT & ki@ 3T frar g 7 #e)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gereff Tgr T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the
question paper.

» U g7 1 FAY &7 @ [d I8 GhRET HC d@ B 597-97
g7 7 78 & YO # Iy 54 a9 § #HE A a@r
BT Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) TTT 7 5721 597 &
(ii) & 597 SAfart 8
(iii) ;;79@71 F1-1 o/ % dGE (i-xiv) TGS F97
/

4328/(Set : C)
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(iv) 597 G@T 2 @11 T% Gy FT0T T & T T9%
797 2. 37 H &

(v) Fo7 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T 81

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T 9%
I 5 37 H &

(Vi) J97- 77 & G @7 @ FS [AweT 78 &1 FMIT 5 FH
g A g F ol T qaT B T &1 o
g7 H & oy BT W gqT § @ a7 & & J97

T &1

(viii) DA % TTENT F SFHT T & AT &7 T,
TGTTHT RIS [T T e7ese 81

(ix) & ST & Y H=IT daw HadE & FeE
P TGN F THT & -
c=3x10%m/s o =41x107 " Tm A~}
h=6.63x103%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.

4328/(Set : C) P.T.O.
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(iii) Question number 1 consists of fourteen (i-xiv)

objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is no overall choice. However, an
internal choice has been provided in all three
questions of S5 marks each. You have to
attempt only one of the given choice in such

questions.

(viii)yUse of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A~

h=6.63x10734JS L o 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg

4328/(Set : C)
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[T O ]

[ Objective Type Questions ]

1. (i) A9 & FECHHOT B T 1912 F ... il
YRR 9§ FrERid B 1

Quantization of charge was experimentally

demonstrated by .............. in 1912.

(i) 9T T UMl ¥ TP Foes qA MW b T T A
T @ & AU H A B © 1

(A) K (TRgies)
1
(B) X

(C) 1
(D) O

Ratio of magnitudes of electric force in air and

water between an electron and proton is :

(A) K (dielectric constant)
1

B)Y —

(B) K

(C) 1
(D) O

4328/(Set : C) P.T.O.
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(iii) T oA H wfeq Sofl @ 2o I6d @ qdr
ufgmretl & "e fawaior & w0 & fafaw 1

Write the expression for energy stored in a

capacitor in terms of charge and potential

difference between its plates.

(iv) T o] & qOEH FoM W, Il Sl @
(A) 9% ST &
(B) g€ SH B
(C) 9% a1 ¥T Tl ©
(D) Il & & B

With the increase of temperature, the

resistivity of a metal :

(A) Increases

(B) Decreases

(C) May increase or decrease
(D) Does not change

(v) 919 TF 3 kQ &% Haed & R & 959 9 V &
fvaieR @1, o SEH | fohal fagq O S B ¢ 1

How much current flows through a 3 kQ
resistor when a potential difference of 9 V is

applied across its ends ?

4328/(Set : C)
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(vi) @ Q0 Uferges e @ gashsiicr B AW
B B ° 1

What is the value of magnetic permeability of

a perfectly diamagnetic substance ?

(vii) T & IR ac IR & R To0% Bl 8 ¢ 1
(A) 1
(B) I

1
(@) N
(D) V2

The power factor for a purely inductive ac
circuit is :

(A) 1
(B) Zero

1
(€) N
(D) V2

(vii)&lo o e & fuire e & F-d fEg-gaom
TET SN & SR 8 7 1

Which electromagnetic wave is used in remote

switches of TV sets ?

4328/(Set : C) P.T.O.
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(ix) A &% fd Wied & AFAR TWAM] s
Mo 79 2 Fred soegH of: =@ eid 8 ¢ 1
(A) TXRE Hisd
(B) qX Hisd
(C) 919g+ Hisd
(D) ¥ it

Which model of atom suggests that atom is a
spherical cloud of positive charges with
electrons embedded in it ?

(A) Rutherford model
(B) Bohr model

(C) Thomson model
(D) de Broglie

(x) JSATFTAr S Gl BT &l 7 1

Who discovered radioactivity ?

(xi)maT%aﬁﬁwﬁﬁE@ﬁmﬁ%ﬁ

g 1
(A) eI (B) faaad=
(C) e (D) gfeEger

Phenomenon of splitting of light into its
constituent colours is known as :

(A) Scattering (B) Diffraction
(C) Refraction (D) Dispersion
4328/(Set : C)
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(xii)fehdl I AR ¥ N ad TbIel TEM & Gedl 57
ST AFT § T &l ST 1 & 7 1

What is the shape of portion of wavefront of
light from a distant star intercepted by earth ?

(xii)egq o H THT Fon A EWUARA FA A
HATIgereeliven Jierd Bl T SR 1

Name the optoelectronic device that convert
electrical energy into light ?

(xiv)T% Foidglivh R Hae] § Higed &l QR
| 1

In an electronic communication system, define
modulation ?

[ STy ST 99 |

[ Very Short Answer Type Questions ]

2. 2 pF, 4 pF 3R 6 pF iar a@ d denfsr aredseq A
e M F| I GO H 50 V B GO § S I, o
T% G IR ST1A9 S i) 2

Three capacitors of capacitances 2 pF, 4 pF and
6 pF are connected in parallel. Determine the

charge on each capacitor, if the combination is
connected to a 50 V supply ?

3. % & Yy g F ® ? 2

What is Kirchhoff's junction rule ?

4328/(Set : C) P.T.O.
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4. &S H REg-gena R & Frm wn g ? 2

What is Faraday Law of Electromagnetic
Induction ?

5. IR%E giER #1085 ¢ ogAR & Ry d @
Hee ofeErd @ fhE @Xe Heife © 7 2

What is Inductive reactance ? How it is related
to capacitive reactance at resonance ?

6. Th WA 40 m ¥ 25 m oY e & fFdl =39 4
TIERT & T 81 W T S & 2 ? 2

A radio can tune into any station in the 40 m to
25 m wavelength band. What is corresponding
frequency band ?

7. W g9 FU EE F@EH 1.0 x 1070 kg X S
2.2 m/secﬁﬂﬁ@ﬂfﬁlﬁﬁ@@%aﬂaw
e fpeT B 7 2
What is the de Broglie wavelength of a dust

particle of mass 1.0 x 10 kg drifting with a
speed of 2.2 m/sec ?

8. ®UTHE dldl &F Pl AERYT BT Tebar T 5
¥p 3 R g A REE B RifEw 2
What is basic nuclear process underlying
B~ decay ? Write nuclear reaction equation of
this decay for 13 52P.

9. T T ReHNl & URWY qu 36% faw qun i
icedl % TCTEY SR 2

Draw the circuit diagram of full wave rectifier
circuit and input and output waveforms of this
circuit.

4328/(Set : C)
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10. ¥ T IR9Y H T qmen ke 2

11.

12,

A
B Y
Write the truth table for given circuit.
A
B Y
Sogle HOX HeRdl | ANIE B e 3EE dF

I b 1 € 7 2

What an electronic communication system means

and what are its three basic units ?

[ g I 9 |

[ Short Answer Type Questions ]
AR foEeT @ RN BT JIEH  FEeN

OUB T g @ e B Rifbw e
foges arfufhar @ b I i 3

Define nuclear fission. Write the fission

reactions of a neutron with Uranium isotope

235 ) . .
92U. Write one use of nuclear fission reaction.
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13. affad feer @ faf=T smgfrl & foig ofger fawa qen
TeR1eT g g1 & S e & fmst it 3

Discuss the variation of photoelectric current
with collector plate potential for different
frequency of incident radiation.

14. FRET F OB 2 ! Th FRO Afaeeer Yed @
TR AL T & 7 3

What is interference ? What are basic requirements
for a sustained interference pattern ?

15. % 9fl9s L-C-R TRy, A R =25Q, L = 16 H
&R C = 25 uF &, B T GRa @R 225 V ac YR
| SUST T 81 STAE & St H Ny TR, Sfrren
T qRT B IO I 3

A series L-C-R circuit with R=25Q, L = 16 H and

C = 25 uF is connected to a variable frequency
225 V ac supply. Calculate angular frequency,
impedance and current at resonance condition.

16. UReRHl Soaeie & e faga omgel & forld eiorh uTw
U IR A B IR BT 3

Derive the expression for magnetic moment of a
revolving electron. Define Bohr magneton ?

17. Th @M qg B IRAMNG H| FHB AHihd ARG
SET 9 Heelr SicsY @i e S 3

Define a Wheatstone bridge ? Draw labelled
diagram and discuss the balance condition.

4328/(Set : C)



(13) 4328/(Set : C)

18. U% THTHM AR Ida M WA & HROT SqD 3T
R forg W g & dlerel 1 &St & i@l 3

Deduce expression for electric field intensity due
to a uniformly charged thin spherical shell at a

point inside the shell.

[ & ST 99 ]

[ Long Answer Type Questions ]

19. T TGE gXEM § Ufefds S99 @ ik 6w
AMRE TARY| ZHH! G AT Hl GRHANT HioTd qem
% fore ot fofagy 5

Draw a labelled ray diagram showing the image
formation in an astronomical telescope. Define

its magnifying power and write expression for it.

3TeE
OR

47 % fERrd wam & Bhe 9 @ &9s g i 5

Find out the expression for Fringe width in

Young's double slit experiment.

4328/(Set : C) P.T.O.
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20. TF p-n-p TN H ST THEU p-n-p TiPREX A
AfT TAEY TAT 39D HE S IO B

Draw the symbol of a p-n-p transistor. Show the
biasing of p-n-p transistor and explain the

transistor action.

STeE
OR

Wn-p-ngﬁw%aﬂaﬁwwﬁmﬁwmﬁ
e & oterd & fau uRuy RE s9EU 39
g § 3o A qw g ofhaele & @49
gify 36H a1 Sa€E Ol & AT B 5

Draw a circuit diagram to study characteristics
of n-p-n transistor in CE (Common Emitter)
configuration. Draw the sketch of input and
output characteristics of this configuration.

Describe current amplification factor ?

21. UF I FISCH TeHIe & RErd B quA il 3Eh
T WX § 8 uRafa st @k 8 7 342=5

Explain the principle of moving coil galvanometer.

How it can be converted to an ammeter ?

4328/(Set : C)
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e
OR
gue AR T H AT HIR 36 AT TR
g7 3+2=5

Describe the magnetic hysteresis loop ? What

are its uses ?

4328/(Set : C)
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(iv) 597 G@T 2 @11 T% Gy FT0T T & T T9%
797 2. 37 H &

(v) Fo7 G& 12 @ 18 7% T Fa0q Fo7 & T JA%
797 3 S T 81

(vi) 797 FET 19 @ 21 7F § FTIT 597 & T 9%
I 5 37 H &

(Vi) J97- 77 & G @7 @ FS [AweT 78 &1 FMIT 5 FH
g A g F ol T qaT B T &1 o
g7 H & oy BT W gqT § @ a7 & & J97

T &1

(viii) DA % TTENT F SFHT T & AT &7 T,
TGTTHT RIS [T T e7ese 81

(ix) & ST & Y H=IT daw HadE & FeE
P TGN F THT & -
c=3x10%m/s o =41x107 " Tm A~}
h=6.63x103%JS 1 —9x109Nm2C2

47560

e=1.6x10"19¢C m, =9.1x107°! kg

General Instructions :
(i) There are 21 questions in all.

(ii) All questions are compulsory.
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(iii) Question number 1 consists of fourteen (i-xiv)
objective type questions each of 1 mark.

(iv) Question Numbers 2 to 11 are very short
answer type questions and carry 2 marks

each.

(v) Question Numbers 12 to 18 are short answer

type questions and carry 3 marks each.

(vi) Question Numbers 19 to 21 are long answer

type questions and carry 5 marks each.

(vit)There is no overall choice. However, an
internal choice has been provided in all three
questions of S5 marks each. You have to
attempt only one of the given choice in such

questions.

(viii)yUse of Calculators is not permitted, if

required you may use logarithmic tables.

(ix) You may use the following values of physical

constants whenever necessary :

c=3x108m/s o =41x10~" Tm A~

h=6.63x10734JS L o 9x109Nm2C2
47[60

e=1.6x10"19¢C m, =9.1x1073! kg
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[ a9 |

[ Objective Type Questions ]

1. () OF %I AET H AT o, EREHL IR
g 1
There are about .............. electrons in a

charge of -1 coulomb.

(i) & WA & AA FH dd GG I B THA Bl
g 1

(A) TN
(B) &6
(C) wfdeta
(D) STT & & Hig et

Nature of electric force between two protons

is :

(A) Attractive
(B) Neutral
(C) Repulsive

(D) None of the above

4328/(Set : D) P.T.O.
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(iii) STAST T GIRAT & & H T G H G Bt &
ot foTiEm) 1

Write the expression for energy stored in a

capacitor in terms of charge and capacitance ?

(iv) T T % AR & &% | gha & Y IHehl
gfeRigedT 1

(A) 9¢ Sl B

(B) g€ i ©

(C) 9g I g€ Tl ©
(D) I & @ ©

With the increase of area of cross-section of

a conductor, its resistivity :
(A) Increases

(B) Decreases

(C) May increase or decrease
(D) Does not change

(v) 9 Th 5 kQ & Uog®s & 0 & 7959 5 V H
fvaier @1, o SEH | fehal fagq O S B ¢ 1
How much current flows through a 5 kQ

resistor when a potential difference of 5 V is

applied across its ends ?

4328/(Set : D)
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(vi) -1 e yafd g Bl wered @ e
Feehelicrar feberr 8l ? 1
What is the relative magnetic permeability of
a substance whose magnetic susceptibility

is-17?
(vii) fefeeeen & dar FfdEEET & T W & U BE-a
g fafeer savT feam o & ? 1

Which electromagnetic radiation is used in
medicine to destroy cancer cells ?

(viii)[hEes HIST HI G BN AMNDE HiSe Hel Sl
g7 1

(A) gmET
(B) TEXHIE
(C) & sifvll
(D) X

Whose model of atom is also called nuclear

model of atom ?
(A) Thomson
(B) Rutherford
(C) de Broglie

(D) Bohr

4328/(Set : D) P.T.O.
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(ix) 59 TH GORT B TH ac ANd q NS ™ &, a

dieedr oY a1 & %9 ¥ & ¢ 1
(A) 90° (B) 45°
(C) 180° (D) 0°

Phase difference between voltage and current
when an ac source is connected to a

capacitor :
(A) 90° (B) 45°
(C) 180° (D) 0°
(x) AT 1 HF-T1 T5F 1 & U TBE B
SR & § 7 1

1 Decay per second are equivalent to what
unit of radioactivity ?

(xi) TeRIT &I FFE UREeT & HROT SR Al @

a7 1
(A) aRETe (B) ferad=

(C) FahIvie (D) STuEA

Sky seems blue due to which phenomenon of
light :

(A) Dispersion (B) Diffraction

(C) Scattering (D) Refraction

4328/(Set : D)
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(xii)TH T 4T g & RBAR [hd TR H aCmd el
g7 1

What is shape of a wavefront around a

straight line source ?

(xiif)TE e AT H AW AEC @ dieedr FEw
% ®Y § IR A S el ® 7 1

Name a semiconductor device which can be

used as a voltage regulator ?

(xiv)Th ZOFl~e GO Fae ¥ REmd & Fr wE
AT ? 1

What a receiver does in an electronic

communication system ?

[ foeyg ST 99 |
[ Very Short Answer Type Questions ]

2. 4 pF, 8 pF @1 12 pF &IRar a9 Tenier wgeshy
T Sig @ ¥ AR IS B 150 V $ EERO @ S F,
A TP GERA UX AT 3G Do 2

Three capacitors of capacitances 4 pF, 8 pF and
12 pF are connected in parallel. Determine the
charge on each capacitor if the combination is

connected to a 150 V supply ?

4328/(Set : D) P.T.O.
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3. W % o @ FE @ T faraw 2
Write any two limitations of Ohm's Law ?
4. X ST @ F;1 AEE B ? 2

What do you understand by Eddy Currents ?

5. deaiia gfE & 2 7 AR & o § q© KDY
gfeErd & e @ deiftd @ ? 2

What is capacitive reactance ? How it is related
to inductive reactance at resonance ?

6. U% YSA 3 MHz § 6 MHz &% 3 fhdl Ry 4 q9@Rd
B el Bl G aeH S 1 anm ? 2

A radio can tune into 3 MHz to 6 MHz frequency
band. What is the corresponding wavelength
band ?

7. T% 0.050 kg ZA@H & o< S 2.0 km/sec @l =M
q I @8, B S Sl aeRe fhar arm ? 2

What is de Broglie wavelength of a bullet of mass
0.050 kg travelling at a speed of 2.0 km/sec ?

8. OFIHE ST & W SR Awehid SR T e o
o % 78 g B R AREE B wie e 2

What is basic nuclear process underlying
B* decay ? Write nuclear reaction equation of

this decay for ??Na.

4328/(Set : D)



9.

10.

11.

12,

(11) 4328/(Set : D)
T Rl &1 aRuer s=Ey e o Ry g g

gicedl ® dEEY 9 §9RU 2

Draw the circuit diagram of a half wave rectifier
circuit and input and output waveforms of this
rectifier.

T T qRUY @ g aieel farag 2

A
B Y

Write the truth table for given circuit.

A
B Y

digge | F1 SAIE & 7 36 1 YR § ¢ 2
What do you mean by modulation and what are

its types ?

[ @Y STE 999 ]
[ Short Answer Type Questions ]

TieH g F1 BT & 7 59 SRR H TH SaABI
g TH I9A faRan 3

What is nuclear fusion ? Write its one example

and one use of this reaction.
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13. UF fRU g uhal Hadl gard & foq oafod fafeeer @
mgRy & PR fawa & aRaa @ arer Fivw 3

Describe the variation of stopping potential with
frequency of incident radiation for a given
photosensitive material.

14. JHI H faaq &1 B ? Uha B0 fqadw & Ak
A NG S9ET 3

What is diffraction of light ? Draw diagram for
single slit diffraction arrangement.

15. T% g8 L-C-R 9RUY, Rfigd R = 42 Q, L = 4 H
X C = 100 pF &, ® TF Rl ghd 210 V ac
YR & ST T B TS H TRl F &HNg S,
SfcTTe T R0 & IO i) 3

A series L-C-R circuit with R=42 Q, L = 4 H and
C = 100 pF is connected to a variable frequency
210 V ac supply. Calculate angular frequency,
impedance and current at resonance condition.

16. URAIGHT F1 St B 7 Uh Rl URATNR & HIROT
fpT e &5 BT © ¢ 36 8 @ RS a4 | @l
S 2 7 3

What is a Solenoid ? How much magnetic field is
due to a long solenoid ? How its direction is
determined ?

4328/(Set : D)
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17. U favemdt & R & 9ol i) 0F 8 & STiai®
JfeRg % G I A URIY ARY B 3

Explain the principle of a potentiometer. Draw a
labelled circuit diagram to determine internal
resistance of cell.

18. T% o= TR d THEHH AR arX & 99 i%ra?r
&5 ST it

Determine electric field intensity near an

infinitely long straight uniformly charged wire.

[ ST 9 ]

[ Long Answer Type Questions ]

19.@33@%%%WHWW|@€W
A TR Y Y e & 7

Explain Domain theory of ferromagnetism. How
ferromagnetism depends upon temperature ?

AYAT
OR

T o FrSal amie & e & 9o i 39
T% dicedier § 39 gRakid fkar o g & ° 5

Explain the principle of a moving coil
galvanometer ? How it can be converted to a
voltmeter ?

4328/(Set : D) P.T.O.
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20. S H AT T BT & ! T & WA SR AT el
TR & SO ERT gaT i HiR e S 5

What is polarization of light ? Briefly discuss
polarization by reflection and polarization by
scattering of light.

AYAT
OR

frdl dga gemesll # ufafde s @ Tmifed B
IME RN M oTEdS T B URWia  HifTu
g% fou v fofag 5

Draw a labelled ray diagram showing the
formation of image in a compound microscope.
Define its magnifying power and write expression
for it.

21. T p-n-p SNEX & SHAMS Seeid (CE) fo=mg ®
afverEes & otege & fog aRuY oR@ sWRul 39
g § zoe g o fria ofhaele & @49
gifgu Ay g Frig g gk S| 5

Draw a circuit diagram to study characteristics
of a p-n-p transistor in CE (Common Emitter)
configuration. Draw the sketch of input and
output characteristics of this configuration.
Define input and output resistances.
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ST

OR
SHIMS St (CE) givieX Jade & e &l
TRUY TRY T TR 5

Explain the working of a CE (Common Emitter)
transistor amplifier using circuit diagram.

4328/(Set : D)



